



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 1st Semester, Section D, Morning, Session Autumn 2025

Registration #	Name	CS111					GE161					GE162					GE266					GE269					MT243				
		Programming Fundamentals (C)					Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2025-M-A-0031	Muhammad Shoaib *	65	C+	2.5	4	10.0	35	F	-	3	-	50	D	1.5	3	4.5	60	C	2.0	2	4.0	75	B+	3.5	3	10.5	6	F	-	3	-
B.S CS Aut-2025-M-A-0044	Rana Muhammad Sameer	95	A	4.0	4	16.0	80	A	4.0	3	12.0	62	C	2.0	3	6.0	80	A	4.0	2	8.0	81	A	4.0	3	12.0	51	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0001	Abdul Aziz *	73	B	3.0	4	12.0	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	86	A	4.0	3	12.0	82	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0002	Abdul Basit *	81	A	4.0	4	16.0	58	C	2.0	3	6.0	65	C+	2.5	3	7.5	71	B	3.0	2	6.0	69	C+	2.5	3	7.5	56	C	2.0	3	6.0
B.S CS Aut-2025-M-D-0004	Ahmad Bashir *	86	A	4.0	4	16.0	75	B+	3.5	3	10.5	69	C+	2.5	3	7.5	65	C+	2.5	2	5.0	87	A	4.0	3	12.0	70	B	3.0	3	9.0
B.S CS Aut-2025-M-D-0005	Ali Hussain	79	B+	3.5	4	14.0	66	C+	2.5	3	7.5	51	D	1.5	3	4.5	70	B	3.0	2	6.0	62	C	2.0	3	6.0	8	F	-	3	-
B.S CS Aut-2025-M-D-0006	Ali Ismail *	88	A	4.0	4	16.0	84	A	4.0	3	12.0	75	B+	3.5	3	10.5	80	A	4.0	2	8.0	93	A	4.0	3	12.0	75	B+	3.5	3	10.5
B.S CS Aut-2025-M-D-0007	Alisha Nadeem *	60	C	2.0	4	8.0	65	C+	2.5	3	7.5	66	C+	2.5	3	7.5	60	C	2.0	2	4.0	67	C+	2.5	3	7.5	28	F	-	3	-
B.S CS Aut-2025-M-D-0008	Asad Rahman *	52	D	1.5	4	6.0	51	D	1.5	3	4.5	57	C	2.0	3	6.0	55	C	2.0	2	4.0	70	B	3.0	3	9.0	24	F	-	3	-
B.S CS Aut-2025-M-D-0009	Ayesha Bibi	77	B+	3.5	4	14.0	70	B	3.0	3	9.0	67	C+	2.5	3	7.5	80	A	4.0	2	8.0	66	C+	2.5	3	7.5	70	B	3.0	3	9.0
B.S CS Aut-2025-M-D-0010	Banaris Ishaqi *	51	D	1.5	4	6.0	56	C	2.0	3	6.0	66	C+	2.5	3	7.5	75	B+	3.5	2	7.0	60	C	2.0	3	6.0	28	F	-	3	-
B.S CS Aut-2025-M-D-0012	Faisal Saleh Hayat *	67	C+	2.5	4	10.0	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	50	D	1.5	2	3.0	70	B	3.0	3	9.0	19	F	-	3	-
B.S CS Aut-2025-M-D-0014	Ghulam Haider *	76	B+	3.5	4	14.0	61	C	2.0	3	6.0	70	B	3.0	3	9.0	70	B	3.0	2	6.0	76	B+	3.5	3	10.5	12	F	-	3	-
B.S CS Aut-2025-M-D-0015	Hamza Khalil *	75	B+	3.5	4	14.0	71	B	3.0	3	9.0	66	C+	2.5	3	7.5	70	B	3.0	2	6.0	70	B	3.0	3	9.0	29	F	-	3	-
B.S CS Aut-2025-M-D-0016	Iqra Bibi *	73	B	3.0	4	12.0	75	B+	3.5	3	10.5	70	B	3.0	3	9.0	75	B+	3.5	2	7.0	84	A	4.0	3	12.0	65	C+	2.5	3	7.5
B.S CS Aut-2025-M-D-0017	Ishwa Qaiser *	86	A	4.0	4	16.0	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	80	A	4.0	2	8.0	82	A	4.0	3	12.0	80	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0018	Jalal Khan Safi *	95	A	4.0	4	16.0	81	A	4.0	3	12.0	80	A	4.0	3	12.0	80	A	4.0	2	8.0	80	A	4.0	3	12.0	77	B+	3.5	3	10.5
B.S CS Aut-2025-M-D-0019	Jawad Zaib	83	A	4.0	4	16.0	75	B+	3.5	3	10.5	76	B+	3.5	3	10.5	70	B	3.0	2	6.0	80	A	4.0	3	12.0	92	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0021	Maaz Ahmad *	61	C	2.0	4	8.0	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	70	B	3.0	2	6.0	83	A	4.0	3	12.0	22	F	-	3	-
B.S CS Aut-2025-M-D-0022	Maviz Abbasi	86	A	4.0	4	16.0	68	C+	2.5	3	7.5	67	C+	2.5	3	7.5	65	C+	2.5	2	5.0	81	A	4.0	3	12.0	50	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0023	Mehran *	63	C	2.0	4	8.0	58	C	2.0	3	6.0	50	D	1.5	3	4.5	19	F	-	2	-	50	D	1.5	3	4.5	12	F	-	3	-
B.S CS Aut-2025-M-D-0024	Mohib Ullah	63	C	2.0	4	8.0	37	F	-	3	-	31	F	-	3	-	75	B+	3.5	2	7.0	67	C+	2.5	3	7.5	26	F	-	3	-
B.S CS Aut-2025-M-D-0025	Mubashira Nazakat *	81	A	4.0	4	16.0	62	C	2.0	3	6.0	71	B	3.0	3	9.0	76	B+	3.5	2	7.0	78	B+	3.5	3	10.5	65	C+	2.5	3	7.5
B.S CS Aut-2025-M-D-0026	Mudassir Shabir *	86	A	4.0	4	16.0	44	F	-	3	-	80	A	4.0	3	12.0	80	A	4.0	2	8.0	83	A	4.0	3	12.0	85	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0027	Muhammad Abdullah *	58	C	2.0	4	8.0	56	C	2.0	3	6.0	65	C+	2.5	3	7.5	50	D	1.5	2	3.0	62	C	2.0	3	6.0	5	F	-	3	-
B.S CS Aut-2025-M-D-0029	Muhammad Abid *	72	B	3.0	4	12.0	57	C	2.0	3	6.0	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	80	A	4.0	3	12.0	32	F	-	3	-
B.S CS Aut-2025-M-D-0030	Muhammad Ilyas *	93	A	4.0	4	16.0	84	A	4.0	3	12.0	75	B+	3.5	3	10.5	81	A	4.0	2	8.0	83	A	4.0	3	12.0	95	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0031	Muhammad Kazim	67	C+	2.5	4	10.0	58	C	2.0	3	6.0	66	C+	2.5	3	7.5	70	B	3.0	2	6.0	73	B	3.0	3	9.0	26	F	-	3	-
B.S CS Aut-2025-M-D-0032	Muhammad Mudasir Saleem	60	C	2.0	4	8.0	51	D	1.5	3	4.5	61	C	2.0	3	6.0	56	C	2.0	2	4.0	72	B	3.0	3	9.0	17	F	-	3	-

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 1st Semester, Section D, Morning, Session Autumn 2025

		NC101					
		Pre-Cal 1					
		Obtained	Grade	GP	Credits	Product	
B.S CS Aut-2025-M-A-0031	Muhammad Shoaib *	51	D	1.5	3	4.5	
B.S CS Aut-2025-M-A-0044	Rana Muhammad Sameer	-	-	-	-	-	
B.S CS Aut-2025-M-D-0001	Abdul Aziz *	55	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0002	Abdul Basit *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0004	Ahmad Bashir *	53	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0005	Ali Hussain	-	-	-	-	-	
B.S CS Aut-2025-M-D-0006	Ali Ismail *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0007	Alisha Nadeem *	40	F	-	3	-	
B.S CS Aut-2025-M-D-0008	Asad Rahman *	36	F	-	3	-	
B.S CS Aut-2025-M-D-0009	Ayesha Bibi	-	-	-	-	-	
B.S CS Aut-2025-M-D-0010	Banaris Ishaqi *	40	F	-	3	-	
B.S CS Aut-2025-M-D-0012	Faisal Saleh Hayat *	51	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0014	Ghulam Haider *	34	F	-	3	-	
B.S CS Aut-2025-M-D-0015	Hamza Khalil *	36	F	-	3	-	
B.S CS Aut-2025-M-D-0016	Iqra Bibi *	50	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0017	Ishwa Qaiser *	55	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0018	Jalal Khan Safi *	59	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0019	Jawad Zaib	-	-	-	-	-	
B.S CS Aut-2025-M-D-0021	Maaz Ahmad *	50	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0022	Maviz Abbasi	-	-	-	-	-	
B.S CS Aut-2025-M-D-0023	Mehran *	28	F	-	3	-	
B.S CS Aut-2025-M-D-0024	Mohib Ullah	-	-	-	-	-	
B.S CS Aut-2025-M-D-0025	Mubashira Nazakat *	57	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0026	Mudassir Shabir *	59	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0027	Muhammad Abdullah *	51	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0029	Muhammad Abid *	65	C+	2.5	3	7.5	
B.S CS Aut-2025-M-D-0030	Muhammad Ilyas *	53	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0031	Muhammad Kazim	-	-	-	-	-	
B.S CS Aut-2025-M-D-0032	Muhammad Mudasir Saleem	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 1st Semester, Section D, Morning, Session Autumn 2025

Registration #	Name	CS111					GE161					GE162					GE266					GE269					MT243				
		Programming Fundamentals (C)					Application of Information & Communication Technologies					Functional English					Islamic Studies / Ethics					Applied Physics					Probability & Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2025-M-D-0033	Muhammad Usman	-	F	-	4	-	71	B	3.0	3	9.0	62	C	2.0	3	6.0	65	C+	2.5	2	5.0	71	B	3.0	3	9.0	50	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0034	Muhammad Waseem *	64	C	2.0	4	8.0	66	C+	2.5	3	7.5	67	C+	2.5	3	7.5	67	C+	2.5	2	5.0	92	A	4.0	3	12.0	33	F	-	3	-
B.S CS Aut-2025-M-D-0035	Muhammad Zaka Imdad *	89	A	4.0	4	16.0	71	B	3.0	3	9.0	62	C	2.0	3	6.0	80	A	4.0	2	8.0	81	A	4.0	3	12.0	94	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0036	Noor Fatima *	66	C+	2.5	4	10.0	61	C	2.0	3	6.0	65	C+	2.5	3	7.5	72	B	3.0	2	6.0	66	C+	2.5	3	7.5	55	C	2.0	3	6.0
B.S CS Aut-2025-M-D-0037	Noor Fatima *	75	B+	3.5	4	14.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0	70	B	3.0	3	9.0	18	F	-	3	-
B.S CS Aut-2025-M-D-0038	Rafia Irfan *	82	A	4.0	4	16.0	66	C+	2.5	3	7.5	75	B+	3.5	3	10.5	82	A	4.0	2	8.0	85	A	4.0	3	12.0	51	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0039	Rehan Mustafa Awan *	75	B+	3.5	4	14.0	57	C	2.0	3	6.0	71	B	3.0	3	9.0	76	B+	3.5	2	7.0	85	A	4.0	3	12.0	32	F	-	3	-
B.S CS Aut-2025-M-D-0040	Rukhsar Aslam *	81	A	4.0	4	16.0	65	C+	2.5	3	7.5	80	A	4.0	3	12.0	80	A	4.0	2	8.0	86	A	4.0	3	12.0	75	B+	3.5	3	10.5
B.S CS Aut-2025-M-D-0041	Sada Ullah *	72	B	3.0	4	12.0	60	C	2.0	3	6.0	62	C	2.0	3	6.0	71	B	3.0	2	6.0	83	A	4.0	3	12.0	24	F	-	3	-
B.S CS Aut-2025-M-D-0042	Shaher Bano *	96	A	4.0	4	16.0	63	C	2.0	3	6.0	66	C+	2.5	3	7.5	76	B+	3.5	2	7.0	77	B+	3.5	3	10.5	70	B	3.0	3	9.0
B.S CS Aut-2025-M-D-0043	Sheeza Haq Nawaz *	69	C+	2.5	4	10.0	55	C	2.0	3	6.0	66	C+	2.5	3	7.5	71	B	3.0	2	6.0	75	B+	3.5	3	10.5	52	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0044	Syed Zakria Ali Shah *	83	A	4.0	4	16.0	57	C	2.0	3	6.0	72	B	3.0	3	9.0	34	F	-	2	-	66	C+	2.5	3	7.5	26	F	-	3	-
B.S CS Aut-2025-M-D-0045	Syeda Konain Fatima	75	B+	3.5	4	14.0	71	B	3.0	3	9.0	66	C+	2.5	3	7.5	70	B	3.0	2	6.0	77	B+	3.5	3	10.5	84	A	4.0	3	12.0
B.S CS Aut-2025-M-D-0046	Tehseen Ali *	63	C	2.0	4	8.0	30	F	-	3	-	72	B	3.0	3	9.0	60	C	2.0	2	4.0	73	B	3.0	3	9.0	7	F	-	3	-
B.S CS Aut-2025-M-D-0047	Umair Zia *	78	B+	3.5	4	14.0	80	A	4.0	3	12.0	74	B	3.0	3	9.0	66	C+	2.5	2	5.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5
B.S CS Aut-2025-M-D-0048	Waqar Ahmad *	71	B	3.0	4	12.0	58	C	2.0	3	6.0	75	B+	3.5	3	10.5	71	B	3.0	2	6.0	80	A	4.0	3	12.0	51	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0049	Yahya Ur Rahman *	83	A	4.0	4	16.0	71	B	3.0	3	9.0	70	B	3.0	3	9.0	65	C+	2.5	2	5.0	72	B	3.0	3	9.0	50	D	1.5	3	4.5
B.S CS Aut-2025-M-D-0050	Zabeeha Batool	86	A	4.0	4	16.0	67	C+	2.5	3	7.5	66	C+	2.5	3	7.5	81	A	4.0	2	8.0	84	A	4.0	3	12.0	70	B	3.0	3	9.0

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 1st Semester, Section D, Morning, Session Autumn 2025

		NC101					
		Pre-Cal 1					
		Obtained	Grade	CP	Credits	Product	
B.S CS Aut-2025-M-D-0033	Muhammad Usman	-	-	-	-	-	
B.S CS Aut-2025-M-D-0034	Muhammad Waseem *	51	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0035	Muhammad Zaka Imdad *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0036	Noor Fatima *	50	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0037	Noor Fatima *	44	F	-	3	-	
B.S CS Aut-2025-M-D-0038	Rafia Irfan *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0039	Rehan Mustafa Awan *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0040	Rukhsar Aslam *	60	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0041	Sada Ullah *	52	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0042	Shaher Bano *	51	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0043	Sheeza Haq Nawaz *	50	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0044	Syed Zakria Ali Shah *	55	C	2.0	3	6.0	
B.S CS Aut-2025-M-D-0045	Syeda Konain Fatima	-	-	-	-	-	
B.S CS Aut-2025-M-D-0046	Tehseen Ali *	53	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0047	Umair Zia *	53	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0048	Waqar Ahmad *	54	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0049	Yahya Ur Rahman *	50	D	1.5	3	4.5	
B.S CS Aut-2025-M-D-0050	Zabeeha Batool	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026